H & 0l & AHS B Ml A

20243 20l4 JIEFSESIAH &l

2A:

X XH -
o=

=X
EEIBE LS

Ofl &F2H

MEE
Ofl &k2h

HH W

1,

215,576
181,680

36,008
997,888

1,141,860

HoH W

—

,215,576

181,680
36,008
997,888

1,141,860

73,716

HH W

—

,215,576

181,680
36,008
997,888

1,141,860

73,716

Mo W

9,900
7,920
1,584

3%

9,700

200

Mo W

4,500
3,600
720
180

4,300

200

o HEXE AIH2EH]
3,800,000&

100,000& *12]+7H

MW

HH W

4,500
3,800

3,800
3,040
608
152
700

700
560
112

28

4,300

200

202 O]

HH W

5,400
4,320
864
216

5,400

01 =LA LI

O2=30 A (2LH0HI)
20,0003 »7 5L 128 +3&

HH W

5,400

5,400
4,320
864
216

5,400

A=2SH ==X K&

200,800

196,000

4,800

—_
|




A =SXEMD
M 20| ZMBIE
oL MASS o2X|2(A2307I2=EsIH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 160,640
=S 32,128
s 8,032
301 EetE2 NS 200,800 196,000 4,800
= 160,640
= 32,128
o 8,032
01 Al EE AT S (2 RDEXA) 200,800 196,000 4,800
O=212g=s & =30 A&
200,700,000 200,700
= 160,560
= 32,112
Ea 8,028
Oflzgd=si HX=2 100,000 100
= 80
= 16
[Ea 4
g0 AXIHH RS 988,476 936, 160 52,316
308 AtXIEMSOIE 988,476 936,160 52,316
07 HXHH 252 988,476 936,160 52,316
Ofzzg0 ==t d=Hls &S
986,940,000 986,940
O2dzg0 AS=+=== 1,536,000 1,536
220 (MHItE=0 ALY) 16,400 0 16,400
= 13,120
< 2,296
T 984
301 EtE NS 16,400 0 16,400
= 13,120
== 2,296
o 984
01 Al 2E A S(SRNEXMHE) 16,400 0 16,400
O2d2SH (IS S0 AY)
16,400,000 16,400
= 13,120
s 2,296
s 984




H & 0l & AHS B Ml A

[ A &

83

=3
Bl

20243 = =0llak JIE

od
i’
o
uJ

g2 |8 8 |8 |2 |8
w | = = = o o
~UR RS R A = 2|2
Klo
E
E=)
(e} (e} (e} () (e} (e}
LH3r
uiied
RIS
R EEIEREIEE BEIEEE
Wﬁ
<
=
~ ~ ~ ~ ~ ~
o o
R g
3 T a
o = ~ S
X0 3 = )
) Rt )
o An_ 4_.=._
i i
) K ur
i U__._ A._
< = Ay
It = A
=z ol =
. il al 30
= uir < =
() < o 7
L) K] = =
oF ol d0E o
o o 9o =
. N = _.n“o n_|_x _
&l ol 8 —~ 20 D o A
. |F ORE |3 | |mH
N E] 8l o io = < o
or = KF B had py py O
X |z o (o |m S
I |al Y] ) 3l oF
Ao = W=
<0 Kk
<4




H & 0l & AHS B Ml A

20243 20l4 JIEFSESIAH &l

SA AL
HE: ZOIHOIX il
Eel: LHAFHIIN Y (LHEASESN ) (EHAFHTAXFMNL S LA (Che 2l
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
rar-=inl; 518,624 708,800 A190,176
Jl 514,300
= 4,324
FOIEX| SR 518,624 708,800 A190,176
Jl 514,300
[Ea 4,324
LHAFHIAX 2 (EHASESA) (L HAFHEAAXH 518,624 708,800 A190,176
tESEEIA)
Il 514,300
= 4,324
HESHALHAR M (L HASSSH) 346,000 255,000 91,000
Jl 346,000
401 A2 HIRL R 0HbI 182,000 255,000 AT73,000
7l 182,000
01 A28l 182,000 255,000 AT73,000
O8E - A= XA 182,000
—g&1el vV EXISAt 92,000,000 92,000
Jl 92,000
—OIAt2] 206-11HA 23 TEMEZESA
60,000,000 60,000
Il 60,000
-S3el 2317 EXI3A
30,000,000 30,000
Il 30,000
405 KHoHF S| 164,000 0 164,000
) 164,000
01 AL =S F=H 164,000 0 164,000
OASSUAE 164,000
-AEcl Ol 58 sI1H 2L
70,000,000& 70,000
) 70,000
-ddel 0l 58 sI1H 2L
88,000,000& 88,000
Jl 88,000
-tidiel 02 58 sI1H 24
6,000,000& 6,000
Jl 6,000
HELSUHMAT A (LHASLESIA) 168,300 149,800 18,500
Il 168,300
401 AlZHIZ SO 168,300 149,800 18,500
Il 168,300
01 Al&H| 168,300 149,800 18,500
O33 - A= XIAE 168,300




of
Rl
oF
uJ

© ©
" SIBS
Klo A
El
D
g|8|8
_._._wwrﬁ olol|w
%
Pk
s 8
58 28 E8[33)38
N ) > (a5} (a5} &
KR 2R L QYT < <
ar ) o
<
S
~ ~ ~
ol 4]
O
m 5 W o
. < < g
or 8 S| ] 3
0| s 5zt :
e 12 ® Mg <
. <k N
| iy
< |3 = i
3 H0 = P_
N A o]
= |® M0 ol
0 A T
—~ = ._Mn__u_ I_x
= |a | -
= w_ r Al
ol 5 3 110}
mrﬂ o = o
v = S
o [ ] o 2
a2 b ; 5|2
0 : <0 < z|3 2
$ _ _ o|x 2
. | & ol &
I 2|5= "
=




H £ 0l & AF & S

Al A

202495 20l4t DIEISE A &
FA S
B Lms 9
Eel: SEME (SEINLESSSIH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sSFEH 20,778,940 16,213,802 4,565,138
Jl 20,737,180
== 6.300
[Ea 35,460
=dgg 2 9,846,265 5,736,299 4,109,966
Jl 9,805,863
< 6,300
= 34,102
RN (=N ELSIA) 2,420,545 272,407 2,148,138
Il 2,399,545
== 6,300
o 14,700
FEQLETE 2| 145,545 181,407 A35,862
7l 145,545
207 ARl 145,545 181,407 N35,862
Jl 145,545
01 H1E<SH 145,545 181,407 N35,862
O=2gEgdc e - AZAE =22
LIEE &9 38,000,000& 38,000
Jl 38,000
O+HRAELIE 0%} B
107,545,000 107,545
Jl 107,545
HIER2E M2ZALS 70,000 60,000 10,000
Jl 49,000
s 6,300
s 14,700
101 ©1AH| 9,898 9,630 268
7l 6,928
= 891
o 2,079
04 JIZtNZ22 XS 2+ 9,898 9,630 268
OBIEQENTAIE 2| JI2HH 2= 9,898
-Jl== 30,4402 x 164+ 1H 6,469
Jl 4,527
= 583
o 1,359
-F55g 30,4403 x35L*x1H 1,381
7l 967
= 124
o 290
-FeRdrd 30,4403+ 112%1H 434
Jl 304




od
i’
oF
uJ

10}

ur
xJ

KJ RN
moE
&l 70 X
RO w) =
R0 R KU
i <F <+

| ZH

[ R}
o

ol

=
-

N N S S8 S
(o) ($5) Yo (@) o
aq - - S =
Klo
E
B
S S S
(5] [ep] (@)
) N o
H3r
uiked
RS
5 T8 B S ST-B|YINSIIFIYTYSISITIRTI YNBSS I SSS3ILISILABISss8 8|8 S 8
[ Te] — O O — | O O© J|O© © O N — M O w — w0 v O O ™M 00 U ™ — o O O — |O o O
N N Vs < < < o S N dlg o ~
m.ﬁ
<
S
m
30 08! o 08! [0S [ [0S
X S o S S S S
all = = N = = S
(@)
o S 5 : g 8 g g
X0 = > < =]
Bl = 3 3
0 3 {0
ol W_ 0
=3 T
i =
= ol —~ ol =
. s Ulo s <+
= Hio — Hio
] = ] pl
g Ulo 7 H0 =
= = K Ao Ao
o = ar Hio ] no m - =
g i 3 00 00 30 0f o al
= 0 7 o) < 0 H0 nk = o
W Y oF ok R0 i) 0 Ok t |
RO _ 4 _ [ [0 [ [ teY o
. - N ~ O
X e e <
I+




FA S
B Lms 9
Eel: SEME (SEINLESSSIH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 900
s 2,100
401 AlEHIZ 2 0HbI 43,000 44,070 /1,070
Jl 30,100
< 3,870
= 9,030
01 Al&H| 43,000 44,070 /1,070
OHIEQENZAE FA 2
43,000,000& 43,000
Jl 30,100
[ 3,870
T 9,030
Zletd FI A 2,177,000 0 2,177,000
Jl 2,177,000
401 AIEHIZ SR 0HYI 2,177,000 0 2,177,000
Jl 2,177,000
01 A28l 2,177,000 0 2,177,000
OF& HMsAD 2
2,177,000,000& 2,177,000
Il 2,177,000
g 222 2UH2 HSXA0IS) 28,000 31,000 /3,000
Jl 28,000
401 Al HIZL 201 28,000 31,000 23,000
Il 28,000
01 A28l 28,000 31,000 23,000
O f== 28 & XS
28,000,0002 28,000
Jl 28,000
Ao XS FXZAS (SEINLEEZIA) 7,400,618 5,340,892 2,068,726
Il 7,406,318
o 3,300
TR 3,991,847 3,706,628 285,219
Jl 3,988,547
T 3,300
307 glztol & 997,627 912,102 85,525
Il 997,627
02 QB AANEE R 997,627 912,102 85,525
Oli=ssAlE 281l A&
100,000,000 100,000
Jl 100,000
OXEFLUXNE At =&
544,399,000 544,399
Jl 544,399




SN BAFH
B ms 9
CHol: AIASITRIXIS ZEOIKBAN (ARSI H) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEEFSEICEEIE)
363,228,000& 363,228
Jl 363,228
401 AlEHIZL S0 1,000,000 1,440,000 440,000
Il 1,000,000
01 A28l 1,000,000 1,440,000 440,000
O0t=g =eXZAE =&
700,000,000 700,000
Jl 700,000
OZF9r STI| AME = 300,000
- SEMEHSIE AL HE=AL
300,000,000 300,000
Il 300,000
402 2I2FXH=201& 1,994,220 1,353,326 640,894
7l 1,990,920
Ea 3,300
02 QI TH2AILEE (01X THE) 1,994,220 1,353,326 640,8%4
O0I2g XM =&
1,614,220,000& 1,614,220
Jl 1,610,920
o 3,300
OZSd S| A =& 380,000
~SADIA BSA(ETR))
380,000,000 380,000
7l 380,000
FOUXSAISEILLDBAI A 17,771 21,964 A4,193
Il 17,771
101 @124H| 10,181 14,374 24,193
Jl 10,181
M ORNZZ2NSE S 10,181 14,374 A4,193
OJ12HMl 2IABI(S - & FLUIXAAY EX) 10,181
-Jl== 78,8803 x422 x2H 6,626
Jl 6,626
-F5=g 78,8803 x0 2 x2H 1,420
Jl 1,420
-RERLsE 78,8802 x3Z x2H 474
7l 474
—dEds Bl
8O0 *BAl ZH54 2 #2H 735
Jl 735
-2g2 9,254,000 *10% 926
Jl 926
201 er=23| 7,590 7,590 0
Il 7,590




FA S
B ms 9
Bl MRS FUTRAG (=EINLSEEIH) (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 6,410 6,410 0
Odit==H| 6,410
N SINENEWCL-E et
6,410,000& 6,410
Jl 6.410
2 s5=34l 1,180 1,180 0
O332= € HAl 1,180
-RuLs= 1,180,000 1,180
Il 1,180
U SEXNFALS 3,400,000 1,612,300 1,787,700
) 3,400,000
401 AlEHIZL S0 3,400,000 1,612,300 1,787,700
Jl 3,400,000
01 Al&H 3,400,000 1,612,300 1,767,700
O=EO =152 22
3,400,000,000& 3,400,000
7l 3,400,000
=R 2AL(FENLSESA) 5,519 3,000 2,519
=1 GHAl 3,000 3,000 0
201 etz 3| 3,000 3,000 0
01 AlR22IH| 3,000 3,000 0
SEER=1] 3,000
—apipol HEA HEZTD 202 U
St 1,500,000 224 3,000
F=HAS 2Ae| 2,519 2,519
401 AIEHIX SO 2,519 2,519
01 Al&H| 2,519 2,519
OM4g2INY T Y HX 4
2,519,000& 2,519
s2=J2edlZ ol (=EHESE3) 10,583 120,000 A109,417
oligil 10,583 120,000 109,417
801 GdiHI8I 10,583 120,000 109,417
01 Letoldlbl 10,583 120,000 109,417
Oullblbl 10,583,000 10,583
A2 (SZE ) 52,619 0 52,619
Jl 51,261
s 1,358
IR HH|(BHEE ) (BN ELEIIA) 52,619 0 52,619
Jl 51,261
[Ea 1,358
FEXZAMSEIIBAIE 22| 52,619 0 52,619
Jl 51,261
s 1,358




A SEE
Hu: olt2oly|(SAE M)
CHel: olei2oiy|(SHRIF M) (SR NHS LS H) (crol: m2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
101 eI t| 46,981 0 46,981
| 46,981
03 SR (RIHL) 22X ES 46,981 0 46,981
(@iFal:] 46,981
-Jl2= 2,646,0702 128 ~1H 31,753
| 31,753
—Z Az Al 140,000& *12&*1H 1,680
| 1,680
- WEEXH| 50,0002+ 12 +1 600
| 600
—HESOHI 1,587,640 23| * 18 3,176
| 3,176
ARt RRAY
20, 3402 *30A| 2t 123 *1H 7,323
| 7,323
-IE=E 40,0002 * 123 +x1H 480
| 480
B PN 109,360 18 *1H 1,969
| 1,969
N4 AsRE3S 5,638 0 5,638
| 4,280
i 1,358
04 SR(PIIHL) 22X BE8e28d43 S 5,638 0 5,638
Ok=1=:1= 46,981,000 *12% 5,638
| 4,280
= 1,358
NREs (22 10,880,056 10,429,549 450,507
| 10,880,056
LIEHHKI S (SHEEE M) (= INEESESIA) 10,880,056 10,429,549 450,507
| 10,880,056
BEI|IEANLE 29 7,173,476 7,338,828 A 165,352
| 7,173,476
701 JIEt2| HISEHES 7,173,476 7,338,828 A 165,352
| 7,173,476
02 SILESIHBNNEZ 5,631,766 5,344,041 287,725
Oct=Z AL EE 3| HEE(22HI) 5,324,645
-8 ES30t=X2lAld
1,252,585,000& 1,252,585
| 1,252,585
-38 330X elAld
1,120,454,000& 1,120,454
| 1,120,454
—8cl S3ot=HelAl4
721,322,000& 721,322

_11_




A SEZHY
M THREs(sZE M)
9l LRI RIS (S PRI (SBHE S5 (ciol:@g)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 721,322
—-=0H Z3ot=HelAld
310,251,000& 310,251
| 310,251
—dE B30t elAl-
372,960,000 372,960
| 372,960
— &3 33ot=HelAlE
228,9%4,000& 228,994
| 228,994
~HOH BBBIAHRIAIL
213,383,000 213,388
| 213,388
-JHE2 220X elAlE
302,507,000 302,507
| 302,507
-8 E=XelAlE 802, 184,000& 802,184
J| 802,184
Odt=C AL ASEHZIAHNME (O =EHYI)
307,121,000& 307,121
| 307,121
03 SIILELSAHRN2NEZS 1,541,710 1,994,787 A453,077
Odt=T AL A S AH NS (U2=&HI)
1,541,710,000& 1,541,710
| 1,541,710
BAIZAIL HX(22BILHEIAL &5) 2,015,460 0 2,015,460
| 2,015,460
701 J|IEt2I HSHEZ 2,015,460 0 2,015,460
| 2,015,460
03 SIIHELIAHRN2NEZ 2,015,460 0 2,015,460
Odt=S AL SEIIHTEZ(S30t%) 2,015,460
—-8el S4(1) 149,000,000 149,000
| 149,000
—ARB3oteHelAlE SEAL (1)
25,800,000 25,800
J| 25,800
- HEIIot=MlAlE SEAIH(2R)
276,600,000 276,600
J| 276,600
—HorB3ot=HelAld SEAL(1X)
216,600,000& 216,600
| 216,600
—AMEBBot=HelAlE SEAIS(2X})
723,600,000& 723,600
| 723,600




2A:
X XH -
o e

=aak

CHE - BB - NIRA - BAS of e A
- SHARIZ 3ot elAlE SEAH (1
xH) 109,800,000& 109,800
Il 109,800
-S4 2 S3otXIclAlE EXA
514,060,000 514,060
J| 514,060
ZAE EXI(ot=22 FHI) 1,691,120 1,418,000
Jl 1,691,120
701 JIEtI HSHES 1,691,120 1,418,000
Jl 1,691,120
03 SVIHEEIAN=EES 1,691,120 1,418,000
Ol AMASEHAEES(Gl=2t2) 1,691,120
—=p1, Hotpt, AP LEEE A
127,000,000& 127,000
Jl 127,000
—dlcl, ARIZ JHIAY
181,000,000 181,000
Il 181,000
~HE, 49 54RR HHIAY
343,200,000 343,200
Il 343,200
- =0 ol==2t2 FHIAIS(2EH)
324,000,000 324,000
Il 324,000
-JHEE ol+22 JHIAY
97,200,000& 97,200
Il 97,200
~HEO L3R FHAY
196,800,000 196,800
Il 196,800
~ZEY SR FHIAY
40,200,000 40,200
Il 40,200
- &9 ole22 JHIA
199,800,000 199,800
Il 199,800
-JHEE L2522 FUXAH2KZ)
57,120,000 57,120
J| 57,120
- =29, 8 o222 FHIAMY
124,800,000 124,800
Il 124,800




HE & AYY

Al A

SA: DED
M DS WA
Pl FXALES BHE Y 22(FHESLE (e &8l
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wsut 1,046,643 6,936,421 A\b,889,778
nsE He 946,191 6,936,421 25,990,230
FIHANEE &5 L 22(FAESLEIA) 946,191 6,936,421 /5,990,230
wEXNE SIX 106,680 71,676 35,004
201 fer= 3| 38,404 27,236 11,168
01 At 2|l 8,404 9,236 AB32
OFdit &% 82=3 X
2,000,000 2,000
O=dit ?8 M IXA M=
2,000,000& 2,000
OFI I S50 IS
150,0003 #4 & x13] 600
Ounsicg =&l
8,000 8 *3& « 12 2,304
O=gxtde| HE=23 1,500,000& 1,500
2 s5=34l 30,000 18,000 12,000
OREe= € MA 6,000,000& x5 30,000
202 O4H| 3,276 4,440 A1,164
01 2L A 420 360 60
OJlz2gs el
50,0002 x1&* 12 *70% 420
02 FHNH 2,8% 4,080 N1,224
OJl2gs A0
170,000 x2Z %123 +70% 2,856
401 AIEHIX SO 55,000 30,000 25,000
01 Al&H| 55,000 30,000 25,000
O=gxt=er AHAEE EX
20,000,000 20,000
O=&1t nSHMEX(C-HEA) £X
20,000,000 20,000
OFHI nSAEEX(EXE) X
15,000,000 15,000
801 ofielHl 10,000 10,000
01 Letolblsl 10,000 10,000
oodisl 10,000,000 10,000
YR HSAEES 2 165,000 46,000 119,000
201 =3 60,000 46,000 14,000
2 S22l 60,000 46,000 14,000
O=Fgxteet dEAEE FA2 60,000
-y IR HHAAE
10,000,000 10,000
- S =AY HSAIAE
36,000,000 36,000
- WEHE DS HRAIAE
5,000,000 5,000

_14_




SA: DED
M DS WA
o9l FXALS HE Y B2 (FHZSEN) (cre): xg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IIEF ANAE(HBE S) A2l
9,000,000& 9,000
401 AIZHIX R0 105,000 105,000
01 AlZH| 105,000 105,000
O=Y =8It 253l 24
35,000,000 *3JH 2 105,000
Y =R2 674,511 532,325 142,186
101 e124d| 190,871 283,685 A92,814
M ORINZZ2NSE S 190,871 283,685 A92,814
OSg=xty &el &% - A X 190,871
-Jl== 78,8803 x 222 +8= 18 x1/2 124,946
-F5=d 78,8802 *352 x 182 x1/2 24,848
-ra5drd
78,8802 x102~18H1/2 7,100
- M3 2HE
6,800 x2212x18F*1/2 13,526
-28= 340,837, 0002 *12%+1/2 20,451
201 fet= 3| 153,640 183,640 0
01 AtR2te|HI 95,140 124,640 29,500
OBEFAY 2l 225 5,000,000 5,000
OSANSE=IY EXYXZ
2,500,000 * 1490 2 +50% 87,500
OIINSHAIL (LA, XT) 228
110,000 x2CH* 122 2,640
02 S3=gHl 58,500 29,000 29,500
o2t sseHEa 24X
4,500,000 4,500
oL FA2+ 4,000,000 4,000
Okt & RRIFIAAE R+
21,000,000& 21,000
OSgFxE UERD SMUE
6,000,000& 6,000
OX&H SIF=1E |FAE+
8,000,000 8,000
OYMZA (4 - HEY) SSFUHE RN+
15,000,000 15,000
401 AIZHIX S0HH 30,000 45,000 15,000
01 AlZ2H| 30,000 45,000 A15,000
OgANsg=TE =4 15,000,000 15,000
OZBExFxd ®sXl2el 15,000,000& 15,000
405 AHAHE S 300,000 300,000
01 AL =S F=H 300,000 300,000
OSEFIUZMAILE 25
300,000,000& 300,000
elF2AHH|(RSH) 100,452 0 100,452

_15_




of
i’
oF
uJ

-

KIO

Hlw

100,452
100,452
100,452
100,452

MEE
Ofl &k2h

Ofl &F2H

100,452
100,452
100,452
100,452

100,452

- ESS

- SRA(E) - HIRAY

S - B

i

244l

101

T

50,226,000 2

_16_



